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PREVIEW QUESTION BANK(Dual)

Module Name : Commerce
Exam Date : 13-Jun-2023 Batch : 09:00-12:00

Sr. || Client Question . . Negativ
No. D Question Body and Alternatives Marks Marks

Objective Question

11908001 ppe following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- |.,, &
16 122 95
2016- &
17 136 105
2017- |, - 2
18 151 115
2018-

7 2

19 167 126
2019-
ho 177 132

What is the average per capita Net National Income (in thousand rupees) per year?

1.103.25
2.114.6
.110.3
. 108.6

Tt &1 715 aTferepT 1 @ 2015-16 §2019-20 TP 5 TW 1 AU P ARM URA B Fad AP 314 (TG IS E94 H) 3R wireaiad
fFae YTy 11T (FSIR 0 #) WS 715 ¢ | dIferept 8 f3U 1Y sifeps| & SuR W e 4y 1g ueHl & SR <:

da Lo

- aa AP omg (@R |wideaiad Haa g o @R
RIS TUUH) = )

2015-16 122 o5

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

Tfd o v e Sid e APy 31 (§9IR =04 H) T 82

1.103.25
2.114.6
.110.3
. 108.6

L

Al
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Objective Question

2 908002 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

V. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- |1, -
16 122 935
2016- x
17 136 105
2017- ||, ;-
1s 151 115
2018-
7 2
19 167 126
2019-
o 177 132

In which year the percentage (%) increase in the Net National Income over the previous year was maximum?

.2019-20
.2018-19
.2017-18
4.2016-17

fta & 715 drferept F @ 2015-16 T 2019-20 9 5 99 B 3(a1Y B AR HR Bi 19 AP 31 (WG S F9U H) 3R vfdeafad
9 P 3 (F9IR T 02 H) 3xfs 715 ¢ | difereet 8 f3U 1Y sifeps! & YR WR - 3T T U=l & S’ <:

o —

L

o Haa agTg oy (@ |wfdodied Haa UETg 3 @WK
PRI T H) R H)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

&g aef e oy @t ga 3 Faa g sima § Ui (%) i sty et

.2019-20
.2018-19
.2017-18
.2016-17

o

e
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Objective Question

3908003 The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

i Net National Income (in Lac  |[Per capita Net National Income (in
Crore rupees) thousand rupees)

%glf\— 122 95

%glﬁ— 136 105

ig”_ 151 115

18- e 126

3819— 177 132

With reference to the year 2015-16 , the percentage growth in the population of India by the year 2019-20 is

1. ~6.2%
2. ~4.4%
3.~7.1%
4

.~3.1%

2 i 778 afereT § 9w 2015-16 §2019-20 TP 5 TN B 331 B SR HRA B Faa AP 217 (@1 BIs =99 T) iR ufdeafaw
o gt s (e9R wuR H) axE 7 ¥ | aiferet & fw g sffesi & eyR W A T e v & W @

o aa AP 3 (@ |widedied Haa Ui 3 @R
TS Tl H) FUdH)

2015-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

ay 2015-16 & Ha) H. URd &1 8@ § a¥ 2019-20 7% o wfawd ofE g2

~6.2%
~4.4%
= 1%
.

K

o
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A2
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Objective Question

4 908004 e following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5

year period from the year 2015 -16 to 2019-20. Based on the data in the table. answer the questions that follow:

Net National Income (in Lac  |Per capita Net National Income (in
Year

Crore rupees) thousand rupees)
2015- 5

22
16 122 95
2016- &
17 136 105
2017- |, =
13 151 115
2018-
7 2

19 167 126
2019-
o 177 132

What is the percentage increase (%) in per capita Net National Income during 5 years (i.e 2015-16 to 2019-20 )?

~30.61%

~ 42.40%

= €1 77 arfere § 9 2015-16 § 2019-20 TP 5 TN B A% B SR HRA B Haa AP 317 (@R HRIS =94 H) SR Uideafad
i Pty S (§SIR U2 H) g 715 © | difeiepl H 3T Y s & MeR W A= T 7 gl & I &

bl

- qa Ay o (@R |Wfdoatad Faw Iy 8 @9k
RIS TIU H) Y T

2015-16 122 95

2016-17 136 103

2017-18 151 115

2018-19 167 126

2019-20 177 132

5 N1 (3 2015-16 T 2019-20 ) Ufdiaafar (e AP o H b wiawd (%) 3 §52

~ 38.94%
~48.24%
~30.61%
~42.40%

R R

Al

A2

A3
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Objective Question
5
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908005 The following table shows Net National Income (in Lac Crore) and Per capita Net National Income (in thousand) of India during the 5
year period from the year 2015 -16 to 2019-20. Based on the data in the table, answer the questions that follow:

V. Net National Income (in Lac  |Per capita Net National Income (in
ear
Crore rupees) thousand rupees)
2015- |1, -
16 122 935
2016- x
17 136 105
2017- ||,
1s 151 115
2018-
7 2
19 167 126
2019-
o 177 132

o=

. 135.68
.138.35
. 140.17
. 143.34

=2 &1 77 arferel § g 2015-16 § 2019-20 TP 5 TN B 3{ATE B SR YR DI Haa AP S (@Rd HRIg =94 H) SR uideafe
o Pt 3 (8IR = 0a #) <2iE 77 © | diferent 7 fau 1Y Sidsi & sfiUR R A 3y 18 e & SR <

Assuming that the per capita Net national Income grows beyond the year 2019-20 at the average annual rate of increase (%) of the peric
(2015-16 to 2019-20) . what will be its value (in thousand ) at the end of the year 2020-21 7

- aa AP oMy (g |wiceatad Haa g o @9
RIS TUUH) =g H)

2013-16 122 95

2016-17 136 105

2017-18 151 115

2018-19 167 126

2019-20 177 132

o =

Al
A2

A3

.135.68
.138.35
3.140.17
4.143.34

Ug | §U b a¥ 2019-20 & &1 Ufdeafar ae APHa o B gfe a¥ 2015-16 T 2019-20 B (a8 BT H1Hd a1t gl & (%)
AR Bl 6. 1 a8 2020-21 & 3id T SHHT T (TR =94 H) 1 g
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Objective Question
6 908006 which of the following are not the characteristics of teacher- centered methods of teaching?

A. Students are passive learners

B. Teachers act as facilitator for learning

C. Teacher directs learning activities

D. Learning is based on collaboration between students
E. Learning is based on student interest

Choose the correct answer from the options given below:

A, . C&Donly
.B & E only
.B.D & E only
. A & Conly

T o -3 faRiward sreamde higd e faf 1 faRwand 12 82

A. faendf fAfSey siftrmedl €19 81

B. ATTD SfTH §q JENeAdmd] & =9 § B IR o
C. 3T ST Tiatafidi @ Fefid od g

D. iftrrd faenfiar & s gearmers srerfa afsar gl
E. 3iforrs faendf siftrsfy snufea giar 81

14 AT e fasedl & @ Tl SR o1 99 Sifor:

b =

Lo

A2

A3

A4

Objective Question

7908007 | Which of the following is a tool used for creating and sharing online learning games?

. Mentimeter
. Padlet

. Kahoot

. Zoom

[ SR

e L
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TS ST Gl & Jor SR TRl § FERiad § 9 $1H9-9 SuHl &1 W fodr sl 62

1. Hfedtex
2. Ugde
3.%gd
4.9H

Al

A2
A3

A4

4

Objective Question
8 1908008 : s - : e F e
What are the various salient features of formative evaluation?

A Tt provides feed back to the teachers to use teaching strategies according to the needs of the learners
B. It helps learners to actively and continuously engage in learning

C. It helps in enhancing the learning abilities of the learner

D. It contributes to the overall grading and certification of the learner

E. It 'sums-up' how much a student has learnt over a period of time.

Choose the correct answer from the options given below:

.B.D & E only
.C & E only
.A.B & Conly
. A &D only

e geaied @ fafdy v faxivart #r g2

A. T8 Rienidal St sraeaedrel & aR &0 UFTHT & Wi @ Y sy | o1 uiayfP uar $Ral gl
B. Te Rrenfdal &1 aftrs & afgy ok 99d TU ¥ I &34 & Ged S3al gl

C. T8 et B S gea1 & 9e § Heg ol o

D. U fRrenfial & guu I iR wHvE & GieH Sar gl

E. U8 Rienfifai &1 oo Sramafd & urad St &1 IR IRqd Pl o

A feu Tt fasedl © © el SR &1 994 pifou:

b =

Lo

1. $9dB.D 3R E
2.%gd C ARE
3. HIAAB AR C
4. FITAINRD

Al

A2

A3 5

3
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Objective Question

9 908009 Given below are two statements:

TR FE R

HYT 1R 11 A el §
 HYF 1 3R 11 S T §

b =

Al

A2

A3

Aty
4

Objective Question

10908010 & gatch List T with List IT

B 1 : gl &1 S ias gy
DU 11 : Al Weie Turd &1 ued FuRe gl ¢l

SRR HY & Hdie 1, i 3U Y fdsbedl § 3 968 Iugad Ik &1 98- Sifeig:

11_Live_Comm_B1_E_1-100.html

Statement I: A learner's cultural background has no impact on his/her learning experience.
Statement II: Gender is not a strong predictor of academic achievement.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II s true

B 3TD HFUTH 34T TR PIg 4G el T9dl 7

3. HYF 1 I8l 8. AT PYFT 11 Tad &
4. BYF 17TTd ©, Afbd SUT 1 T8l &

LIST I (Three Approaches of LIST II (Disciplinary
Education) aspects)
A [Teacher- centred 1. |Shared, Participatory
B. [Learner- centred II. lmposed
C. |Learning -centred I11. |Self-controlled

1. A-IIL. B-II. C-1
2. A-L. B-II. C-II1
3. A-IL B-1. C-III
4. A-II. B-II1. C-1

Choose the correct answer from the options given below:
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A

D dhigd

L[Sl SeHIAT

B.

RIaml digd

1

SR

C.

STETH dhigd

I

Al

A2

A3

A4

11

Al

A2

ok

Objective Question

O R

1. ¥aAA. B3R C
2. %ad B, C 3R D
3. PaA A, C IRD
4. A.B.C3IRD

4

A. B &C only

B.C &D only
A.C&Dounly
CAB.C&D

SRy SHUT o= T O &1 Uia il gidl 8 390 mfafad o 9 o1H 3 Afdear deeh 48 9 o 8
A. gfa=Tied geHfd &1 siuTd

A-IIL B-IL. C-I
A-L B-IL C-III
AL B-L C-III
AL B-IIL. C-I

A, Lack of informed consent

B. Physical and psychological harm
C. Excessive inducements
D. Debricfing

il fau U fasedl § 9 Tl 3R BT 90 BIfod ;

B. INIR@ 3R FAaE JHam
C. SIS YalIHA
D. HGA & GR § SHPR! &1 (Sl Sl

14 fau e fasedl & @ Tl SR o1 99 Sifor:

11_Live_Comm_B1_E_1-100.html

908011 Which among the following would be the ethical issues in a research study that involves participation of human subjects?

Choose the correct answer from the options given below:
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Objective Question

121908012 \which aspect of the researcher may cause psychosocial effect in the participant of a study?

. Age

. Race

. Sex

. Attitude

Sl BT B 91 Ugq [ s & WauiiEal iR Fmiise YuIa STa 9@l 872

b =

e

5715
£

Al

A2

A3

Ay

4
Objective Question

13 1908013 Giiven below are two statements:
Statement I: In a ratio scale, zero point is arbitrary
Statement II: The nominal scale allows ordering/ranking of data

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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%ﬁmmﬁ:ﬁ fog ad=s BT’

FYAL: I I3y I

PUF 11 ; ATHd 719 5 fies! &1 wH HyRer /3w FuRo fem snasar g
SRR B & el o, - 3T 1Y [debedl § 3 99 Suga 9Tk D1 90 Bifoig:

 HYT1 R 11 SH Tl §
HYF IR S T §
P I el 8. AT sy n Tad g
Y 1716 8, Al SYT T TR &

[

S V)

.Al
.AZ
{\3
op

4
Objective Question

141908014 Giveny below are two statements:

Statement I: The standard deviation of a series of repeated measurements estimates the likely size of the chance error in a single
measurement.

Statement II: Bias affects all the measurements the same way. pushing them in the same direction.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

TR P Rumue:

gﬂﬂl . IR-SR {ehT 7¢ A9 B 4ger & A (d=e 9 il U A= o1 i 31 & GHIdd $PR 1 SHA Tl Sl
l

U 11 : YaTae Tt AT BT 9HE P ¥ YU BRA1 8, 56 US ol G-I H 4l ¢

SRR B & el o, - 3T 1Y [debed] # 3 969 Suga 9Tk D1 98- Bioig:

 HYF1 R 11 SH Tl §
L HYF 1R 11 S TTad §
FYFITel B, AT sy n Tad g
 HYT1TAd &, AfbT YT Tel 8

3 =

S V)

Al
A2

A3
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Objective Question

15 1908015 | A yesearcher obtains the following p-values for sample correlation coefficients of different samples. Which of these can be considered

significant at 1% level of significance?

A.0.004
B. 0.99
C. 0.995
D. 0.001
E. 01

Choose the correct answer from the options given below:

.B & C only
.B.D & E only
. A & D only
.B.C &E only

TS SHYFSdl [afi= gicemil & ufaas gedey Ui & oy Fefafad p-om wie o & | RefiEd o 9 6y 10 gried
TR R 1S T o Iodl 52

[

)

A.0.004
B. 0.99
C. 0.995
D. 0.001
E. 01

A feu T fowed! § 9 98l SR &1 984 pifog:

1. ¥$aaB AR C
2. %gdB.D ARE
3. %A A IARD
4. %A B. C ARE

Al
A2
A3
A4

Objective Question

161908016 1£ information flows from the media to the opinion leaders and from them to the target audience, the process is known as

. One-step-flow

. Two-step-flow

. Step-by-step flow
. Multi- step flow

b =

L
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TS 1 1 vaTE HSaT S Sifimd v do SR iR SR afd ST 9 T 2. O 9 i S 8-

1. U% =RUI YaT8
2. fg RuvarE
3. iH® 90 YdIE
4. 9§ U UG8

Al
A2
A3
A4

Objective Question

171908017 E1om the view point communicators language and other symbolic systems are

1. Inactive tools
2. Economic targets
. Social targets
4. Cultural fantasies

TUYH! & VB0 T HINT 3R 3 UdidTHs Tuneal &

[F¥]

1. FTshg Fuazr

2. 31 @em

3. FHIoTe J1g

4, i TR S

Al

A2

A3

A4

Objective Question
18 1908018
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Which of the following are true in the case of audience for analog media? They are:

A. Personally addressable
B. Active campaigners

C. large

D. Heterogensous

E. Anonymous

Choose the correct answer from the options given below:

.A.B.Conly
.B. C.D only
.A.B.E only
.C.D.E only

T Hif$ar & giar & aee d A f S ea-a 9di e e -

A, T =9 ¥ e
B. Tfery iftaasdr

c. 9o den |

D. fawm

E. 3FH

i fau T fasedl § 9§ Hel 3Tk BT 9g- Do

N

1. $AAA. B IR C
2. %adAB, C 3RD
3. PaAA. B ARE
4. %9 C. D IRE

5\1
A2
A3
:A4

Objective Question

191908019 Giiven below are two statements:
Statement I: The centralised control of signs and symbols of mediated communication may affect plurality of opinions on the Internet.
Statement II: The global corporate owners of Internet companies aim only at profits, not the existence of pluriverse.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| ]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 14/66



6/13/23, 6:44 PM 11_Live_Comm_B1_E_1-100.html

TR PR

T 1 : Tafed YUYV & Habdl 3R Wdleh] BT Paigd HIAT Se-c W AUl 31 Sgadl Pl HHIad o Il g |

TY 11 : ST HUTI P ARAP BRUNE HID| DT I5/7 Had ATy BHAFI Gl ©. 7 [P Sgardl AR S ([IRaw) 1 i
A TG

TRIF DY & el H, Hid 3T Y fadedi & 9 981 IR BT 997 Do

FUTIAR IS IO &

FUTI AR IS 3T B

HYT 1 A 8. AP HUT 1 3T &
FYT 13T B, A pTPUT I IA®

o =

=

Al
A2
A3

A4

4
Objective Question

20 908020 Negative communicators usually express

A. Verbal softness
B. Optimism

C. Pessimism

D. Resentment

E. Distrust

Choose the correct answer from the options given below:

A, B. C only
B.C.D only
C.D.E only
A.B.E only

TERIAS TUYE JIHT: Fdd B 8-

b

& W

1= 4T U fa gl § 9 el SR 31 994 Pifog:

1. HEAA. B3R C
2.%dd B, C 3R D
3.%dd C,D 3R E
4. PAAA. B IRE

Al

A2
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Objective Question

21908021 yhyat number would replace question mark (?) in the series given below?

3,8,17,32,57,2, 177

. 100
. 89
D5
. 106

2 €t g A H (0) oA & H W o -8 6@ s

3.8 17, 32.5% 2, 177

b =

da Lo

. 100
89

3.05
4. 106

b2 —

Al
A2
:A3
A4

Objective Question

22 908022 1£in 4 certain code 'Generalization' is written as 52627134819406 . how the word '‘Oreganos’ be written in that code?

. 07521680
. 07251608
. 07251806
. 72085106

gfe foodt B HIM T 'Generalization' & 52627134810406 @ =4 T fer@l ol % SIReE:! P HIHl paj 'Oreganos’ ¥eq @1 &Y faan
ST

B

Al

A2 5
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Objective Question

23 908023 Salary of a person decreases by 10% every year and his bonus increases by 24% every year. If his salary and bonuses at the end of 2020

were Z 8000 and T 2500 respectively, find the difference between his total earnings in March, 2020 and March 2022.

. Z 165, increase
. T 176, increase
3. 2180, decrease
4. 176, decrease

Tt cafcd o1 3a- Ul gy 10% Uedl & AR SHPT a9 T a9 24% gl ol Ife A1 2020 F 3id H 391 3d- IR a9
B . 8000 SR . 2500 A Tl A, 2020 3R A 2022 T IUS! $A 310 & &9 ek 1 Hifog|

b2 =

F. 165, T

L F. 176, 9%
.. 180, HH

X", 176, AT

o =

NE V)

Al

A2

A3

A4

Objective Question

24 908024 e population of a village is 11000. If the number of children increase by 11% and the number of adults increase by 20%. the
population becomes 12660, Find the population of children and adults separately in the village.

. 7000. 4000
. 4500. 6500
. 6000, 5000
. 5500. 5500

fepeit 7ifa @t SEREAT 11000 & | A1 S0 & T T 11% I 9fa Bl § SR I8! @1 T H 20% 1 9fG gl 8. o STae
12660 BT 11l § | 39 7ifd § s=di 3TR qUeeh! $1 3T ST SIS J1d Sifeiu |

B

. 7000. 4000
. 4500. 6500
. 6000. 5000
. 5500. 5500

da o o =

Al

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 17/66



6/13/23, 6:44 PM 11_Live_Comm_B1_E_1-100.html
A2

A3

A4

4
Objective Question

25 908025 There are fifteen successive percentage discounts given in a series of 2%. 4%, 6%. 8% on an item. After how many such
percentage discounts in succession will the effective discount be higher than 50% ?

1. 7th
2. 10th
3. 8th
4. 6th
foh il 13 W 2%, 4%, 6%, 8% 1 el 1 Use HUNT Uiaed §¢ ol Sl & | Ut a1 srmTd Uiisid el & uzard Ui
B 50% ¥ ¥ gl Ao

_7al
. 104l
.gdl
.6dl

b =

S Y]

Al

A2

A3

Aty

4
Objective Question
261908026/ 1) the light of 'Causation’ which of the following is incorrect?
A. Qualities of cause are accidental antecedents
B. The cause of the cause is not the cause.

C. The co-effects of a cause are themselves causally related
D. Eternal substance like space are not unconditional antecedents.

Choose the correct answer from the options given below:

. A& D only
.B & C only
. C only

.B & D only

L2 =

du Lo
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PT-PROT F T F =T § & SH-91 HUF 39T 2

A. ot HRU & 7o Wi ydga B

B. BRU BT HRUI, HRUE T

C. HRU P Yg-UH1d W 3109 & S-SRI & T+ I I3 81d &
D. 3iafel 5 T=ad gerd 3= gdqd el 5

A1 f4u T faoedl  © el SR &1 994 pifo:

1. AT A&D
2. $HdAB & C
3. %dd C

4.$badB &D

Al

A2
A3

A4

4
Objective Question

27 908027 Identify the fallacy committed in the following argument:

"There must be intelligent life on other planets. No one has proven that there isn't".

. Appeal to ignorance

. False alternative

. Slippery slope

4. Hasty Generalization

e gida o sraRfed ahaly & gedr S -

<T@ el R Hi gfAr Slia g =l st ao @1+ ae R Tl R w1 ¢ b T et g1

b =

[F¥]

1. RRHYAS giad
2. 3 fasey

3. TPy e
4. 3ffa=id TSR

Al

1

A2 5
2
A3
3
M

4

Objective Question
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LIST I (Fallacies) | LIST II (Description)
. [Bandwagon Argument I |Arguer misrepresents an opponent's position.
. |Strawman Argument | II. JArguer assumes the point to be proven.

[Red herring Argument|

111

|Arguer appeals to reader’s or listener's desire to be accepted or valued

lw] lo] I+=] =3

. [Begging the question

IV.

|Arguer tries to distract the attention of the audience by raising irrelevant 1ssud]

b =

3
4.

| 531 @Fem)

AL B-IV. C-1. D-III
- A-IV. B-IL C-IIL. D-I

AL B-1 C-IV. D-II
A-L B-III. C-II. D-IV

it 1p 1Y Gl 11 1 e Bifoig

Choose the correct answer from the options given below:

T 1 (R

A

G507 giad | 1 [aiad oo aran fauel & Sigiedld 1 TTad Udd Bidl &

[emagiea | I [gied & aral s [T S dicil §1d &l 31 aR dadl o

RSSIeT gidd | 1L [31e o arcil Uioe a1 3id1 I W8 & HeddH gl 41 [IPR 41 B Bl API&T Pl Spiid $dl g

B
C.
D

e aty | 1v [gfed g ara giarsHt 1 @ g & 7Y S U 3] Joldl §

Al
A2
A3

A4

1. A-IL B-IV. C-I. D-III
2. A-IV. B-ILL C-IIL. D-I
3. AL B-L. C-IV. D-II
4. A-L. B-IIL. C-II. D-IV

Objective Question

1
2
3
4

1

2.
3

4

. Purvavat Anumnana
. Segavat Anumana

. Samanyatodrsta

. Paksadharmat3

. qdad SFFHM
RYgd SHHA
. OTATIAEST
Rettiear)

e feu U fasedl § 9§ Hel 3Tk BT 99 BIfod ;
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29 1908029 When inference is based not on Causation but on Uniformity of co-existence as in the case of inferring cloven hoofs of an animal by it's
horns: it is called

e SFHH BI-HRU Hae TR SA1UTRE 81 61d1 afeh Hg-3H1&id B Uh=gdl R eI eial 6. o4 7T & SR R fadl ugle
fareftof i 1 3HT AL AT 5 P wed € -
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Al

A2
A3
A4

Objective Question

301908030 1561nd is eternal because it is produced' refers to which of the following Hetvabhasa?

. Badhita

. Virruddha

. Asiddha

. Savyabhicara

sgf3 TMead € Fife U8 Ia= 1 91l §° - U8 $UH 9 1 ¥ 59 ey & 9dd oidl 82

=

e

1. Efe
2. fasg
3. 3RS
4. JATHER

Al
A2
A3
A4

Objective Question

319080311 A smart home application that automates the controlling of lighting, temperature, entertainment system and appliances is an example of

. Evolutionary computing

. Nature- inspired computing
. Bio- inspired computing

. Ubiquitous computing

0% H1¢ 81H U ol YT, d9shd, B Yunel 3R IUSUN &f Wa: (afd sar g, Fefafad a3 &:

b =

RS

1. SAQRFR] SIfeT

2. 9H g
3,@@@[&@@%
4. giafagey drgfd

Al
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Objective Question
32 |908032 Identify the correct order of the term A-E given below that completes the paragraph decribing a method of operation for a keyboard.
A computer keyboard has a key matrix underneath the keys when a key is pressed. it presses a switch that completes a

This allows to flow. The location of the key pressed is . The location of the key pressed is compared to a
map to find the value for the key that has been pressed

A. Binary
B. Calculated
C. Character
D. Circuit
E. Current

Choose the correct answer from the options given below:

0
SESREES
@ w o

amao
o» > »

W
L=

T2 AU U A-E 0% & Ual () & Te! I 3! Ffed $% ol $I-a1S & FaTa 1 HUlTell BT g0 H-arel RIS &1 X1 Sl
TP IR & Bl-ars 8 Poil (@) & =19 SLACH SIa1 81 99 B D G/ 91l & a1 399 TS g gadi g of DI

TRAT S| 599 yalied 8- oIl 8| GaTs s ‘@1 &I afeufd BIdl 81 &6 g ‘@1 B! afeufd &1 ga-1 ud
gHRE 9 o 91dt § arfe <& 18 P @1 O U far o 99 |

A SR (e

B. TTUFT

C. TR

D. IR9Y [@idHe)
E. faggd ur1

i feu U fadedl § § Hel 3R B 99 DIfoig:

SRSRERS
ww W

omMon
o» >

W=
> 0o

Al

A2

A3

A4
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Objective Question

33 908033 Given below are two statements:
Statement I: Internet is commonly used service on the World Wide Web.
Statement IT: HT TP is the protocol that web browsers and web servers use to communicate with each other over the Internet.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement II is true

TR Py ume:

DY : Sex-ic, A¥aP 39 (Aeeaigs d8) W IHMY &0 T S&aTd si-ard! a1 g

HUA 11 : HTTP T8 VICIHId § ford dd ST3uR 3R 49 HdR, $e-ic W U OR Y JUYU] 3 & foTd UanT &ed 3
IIRITT U & 3P 4, -iid S0 710 f[dhedl § T g1 TR &1 994 Difog:

PR IS TTE
Y1 AR ST ST

P I FA S, AT PY I 3T’
DY AT R, A PT ST 1 I ®

[

EE V)

Al
5\2
A3
A4

Objective Question

34 1908034 which of the following statements A-C are correct about a Hard-Disk Drive (HDD) used as a storage device in computer?

A. It has no moving parts
B. It is non-volatile
C. It uses magnetic properties to store data

Choose the correct answer from the options given below:

. A& B only
. A& Conly
.B & C ounly
A B&C

b =

Lo
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Rrfifed B A-c 318 B S 1 @R Reared &0 1 T o1 o oed (Teeieh) S R A e &
A 5HH DIg I R8T (fdn urd) =6l gl
B. U H-dIcesd glaT &
C. 78 sl & USRI & ol Traeta 1ol &1 varT el g

1= f4U 7Y fasedl § 9 el SR 31 994 Pifog:

1. $ad A RB
2. PaA AR C
3. PadB 3R C
4. A, B3RC
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Objective Question

35 1908035 Given below are two statements:
Statement I: (1011101); =(135)g

Statement II: (71)g = (111001),

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

o

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
3 @ e Ry g R
FYTL: (1011101), = (135)g
BYTI: (71)g = (111001),
SWRIdd Y & Hafie §, - AU 1Y fdpedl § 9 9ad Sugad STk &1 98- Sifuig:

PYTI AR 1S T8 8
L PYF ISR I EH TTad &
PYT1TEl e, APT FUF 1 Tad §
@Y 17T07d ©, AT HYT 11 T8 &

W

Al

A2
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Objective Question

36 1908036 gooretariate of convention on Biodiversity (CBD) is situated in

. Geneva. Switzerland

. New York, United States
. London. England

. Montreal. Canada

g fafasrar gaeht siftramy (i) @1 ey ol Ra g2

b =

e L

1. 54T, gesRavs
3. die, 308
4. TifeTd, HS1

Al
A2
A3
A4

Objective Question

37 /908037 \Which one of the following is included while estimating Air Quality Index (AQI)?

. N,O Nitrous oxide
. NO, Nitrogen dioxide
. N,O; Dinitrogen trioxide

TN

. N,O; Dinitrogen pentoxide

AR TUIa] YA IP (T 3HTS) I TUHI Hrd 99y HEfiad o 9 fede! Qi far ST g2

1. N,0 (15¢d 3H1gs)

2.NO, (I SE3HHES)
N,0, (STEREEH TRSHFES)
N,05 (STEECIeH U<lqgs)

L¥¥]

Fey

Al
A2

A3 3
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Objective Question

38 1908038 which among the following are Natural Green House Gases (GHGs)?

A. CO, (Carbon dioxide)

B. H,O (Water vapor)

C. CH, (Methane)

D. O; (Ozone)

E. CFC (Chlorofluorocarbon)

Choose the correct answer from the options given below:

3 =
> WP
w0 oW

ggon

m

=]

&

L

frfafad o 9 SF-8 mefae diHesy 19 Giees) 82

A. CO, (PTe SF3HFES)
B. H,0 (3@ ars)

C. CH, (H197)

D. O; (3ISI)

E. CFC (GIRIRR] B1a)

A fqu T fowed! & 9 el SR &1 994 Do

1. $ddA.B.C.D
2. $97A.C.D.E
3.$9dB.C.D.E
4. $BdTA.B.C.E

Al
A2
fx3
A4

Objective Question

391908039 Carbon monoxide (CO). an air pollutant when inhaled readily binds with the hemoglobin in the blood stream to form a life threatering
compound known as

. Hemoglobous

. Carbo hemoglobin

. Carbon mono hemoglobin
. Carboxy hemoglobin

B
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Objective Question

401908040 wyhich of the following is a chemical treatment in water treatment process?

. Filtration

. Sedimentation
. Coagulation

. Sereening

od Qe wftea ¥ fefafad § € oF-91 te Taafe e 2

B

1. e
2. 3@HIEA
3. WgA

4. QUGB (BHIT)
Al
A2
A3

Aty
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Objective Question
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In the beginning of the 20t century in 1902, there were important engineering colleges at

A. Roorkee

B. Madras

C. Kanpur

D. Sibpur (Bengal)
E. Poona

Choose the correct answer from the options given below:

.A.B.D only
.A.B.D &E only
.A.B.C &E only
4. D only

2091 TS & URY F 1002 T Ae@qul SHaRT Siaw Te 42
A OS]
B. HaH
C. BHER
D. FaTR (&7TTe)
E. TG
il fau U fasedl § 9 T8l 3R BT 98 Biiog:

b =

LF¥]

1. $AAA. B IR D
2. %IAA. B.D ARE
3. PIAA. B, C IRE
4.Pbad D

Al
A2
A3
A4

Objective Question

42 908042 Given below are two statements:

Statement I: The NEP2020 recommends the establishment of an academic bank of credit to facilitate the transfer of credits between the
institutions.

Statement II:One of the objectives of NEP2020 is to inerease the number of multidisciplinary institutions in the country.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ B

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement IT is true
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TR FE R
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ey |

T 11 : TTRUT 2020 B IR0l | 9 U, 31 § aglavas dwusf 31 T 1 ofs $3 3|

SR Y & S H, - 3T Y [debedl # 9 969 Suga IR D1 98- Biuig:

 HYT1 3R 11 SH el §
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Objective Question

43 908043 e hecome builders by building and we become just by doing what is just” In the light of this statement what can not be asserted?

1. Man iz a virtuous being

2. Virtues are like skill

3. Skills are acquired by performing relevant activity
4. Virtue 1s a mechanical and non- ethical skill.

<& AT o T Feiuedl §9d § 3R ol TS o1 § 98 & d UETd §d 61 59 S U & JTdie H§ 71 S1d & 91
DE1 o G&hdl 82

1. 7% U Uit oot B

2. O IS & THA &

3. DI WS rarea e ifold fu o g |

4. 701 U T3 3R 3Afa® ST g1
Al
1
A2 5
2

A3 5
3
Aty
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Objective Question
44 908044
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In the light of Buddhist system of education student was expected to follow 'Das Sikha Padani' Which of the following dose not represer
the code of conduct:-

A. To avoid food at odd times
B. To avoid untrue speech

C. To relish music and dance
D. To avoid stealing

E. To accept gifts in charity

Choose the correct answer from the options given below:

A&B
B&C
.C&D
.C&E
a’%&’fi‘r%&numﬁﬂa? e § et ¥ =g Rem ueif &1 ue o1 3t smen ot 18 O FeflRad § 9 o R dfedr B e

A, 3FHY UIGH ol BT

B. 319 =gl gl |

C. Tid SR 7 &1 37 o
D. IRI T8l BT

E. GF ¥ 3UER WHR HAT

1= f4U U fa el § 9 UEl SR 31 994 Pifog:

[

S Y

_A3RB
B3RC
.C3RD
.C3RE

W o =

Al

A2

A3

A4

Objective Question

45 1908045 Given below are two statements:
Statement I: University of Punjab at Lahore and University of Allahabad were established during colonial rule in India.

Statement II: The main reason of their establishment was the increasing demand in these places for higher education including 'Oriental'
well as modern European education.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

[ 2]

. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false

4, Statement I is false but Statement II is true
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Objective Question

46 908046 pead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be :
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminat
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploite
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

India will become water-scarce country if the availability of water per person per annum falls below

4

1 million litre
1.5 million litre
1.2 million litre
100000 litre

b
22

B w
¢

file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 31/66



6/13/23, 6:44 PM

11_Live_Comm_B1_E_1-100.html
TR 1 gfed IR FH W=l & SR Sifor:

YRA 304 450 SR Gag! od (Afedl, Saurisi. s, sreyfEar ik semsm) o A9 fufd B d@d gu. T 40 a9 § UH
- STHTA Tl & & 9T g

I ot Uia Y 1486 TFHIER (~ 1.5 THRTA diex) 3 50 &1 ST & 1Y, YR STa-atil (3fedan) B 407 & 31a1 g1 1000 B9
Hiex vt i Ui a8 9 8 TR R S &R T8 o S TS HHl S 4ui 5 37 S|

O 1 GUd B axio 1 TR B S T61 &dl 81 Hoig U-od afs (Hoisega) & 3iids TdTd § fob Yo7 o SeTeje TanT «
2022 H S H A MBI 7089 SHISUT T F 4% JHCU 61 718 & Said 14% B Afd-alfed d U H aﬂﬁlﬁiﬁmw%l

7e fRURT 2017 7 o1fie SR M 99 17% SHISTl BT Hfd-ale g3 41| faft= T7R0T SR SRe0T Tl 9 & g § TR dole.
RTTRTH, TIRaTon, e, aierg SR Paice oY <odl 3§ IS 3o1edl & I U@ a1 g5 ol

YR H. 87% Yo RidTg & fere FHavren arar § $iR fadvg ®gd @ 6 X N 1R Snfis J.od ol 4 o/d &1 ®iR 92 1
HEY §ST PRUI & Ffp YARU1 U14fies =0 § TG 1 61 81d1 6| TR SR, STl & S0l SR Al R Taeris o
HATEIRG (S9RIY) d & fauo- 3 Tae! od S91eE H $HT &% B

HRd Wdl-3{HTd TTe S0 61 ST afe, Uit oafdd Ui o o &1 Sucaseal 91 € & 81 ol &

~ 1 fafema dier

~ 1.5 fafema diex

~ 1.2 fafema diex

. ~ 100000 fAfergT dtex

b =

e o

Al

A2

A3

A4

4

Objective Question

47 1908047 pead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be :
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum. India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminat
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploite
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

In the year 2022 how many units of water assessed by CGWB were found to be over-exploited?

1. #2835
2y 00
~1276
4. ~ 1006

L¥5]
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oI &1 @Ud BT aRi] U TR 1 e 91 &l 81 a1y 1-od als (Hieilgseyal) & 3iids Sdld g fdb Y-Sl o SeTe]e T+
2022 H 3N H P MBI 7080 SHISUT T U 4% AU 61 718 § Aaidh 14% B Sfd-alied & U Y WWW%!

7e fUf 2017 § aifiie gaaR M 91 17% SHIsdl @1 SHfd-ale gai U1l fafi=1 gRoT SR TR0 yard! 3 a1y gl § R Uoe.
_TeredTH, givamon, faeeh, afiarg ok Salce o el § URH gaTgdl @ v Siftd a1 g5 ol

YRA T, 87% Y-lc RdTg & ferg Repre oirdl § 3R U5y $ed ¢ o U2 gy 1R Sniie 1o7d [Fpyul, 167d &1 &R g Bl
o g1 BRUI § Fi1d JAHR WYHe &9 9 T 8 81 811 ¢ | gkl SR, Samrd! & SHIqshHu 3R Afeal SR saurted o
SAUEIRG (S9T2IY) T & faqei 3 Fag! ofd Sare= H Sl 318 g

ay 2022 3. 4 St Seeg ol gRI [l 5dt geprgdl T S sifd-alied SPigdl & =u § ey T g2

1.~ 283
2.~992
3.~1276
4.~ 1006

Al

1
A2

A3
Ad
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file:///C:/Users/Administrator/Downloads/11_Live_Comm_B1_E/11_Live_Comm_B1_E_1-100.html 33/66



6/13/23, 6:44 PM 11_Live_Comm_B1_E_1-100.html

Read the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminat
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploite
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Assuming that the total number of ground water units assessed by CWGB in the years 2017 and 2022 were same (i.e, 7089). What is the

difference between the number of over-exploited units in 2017 and 20227

1.~213
2. ~216
3.~ 260
4. ~ 354

TR B 9T SR YT e 3 IR I

YRA U 4570 SR Gag! o (el Sayrish, i, smeyfiaT SR STemsr) o 1o ffd B d@d gU, 7 40 g% 0 s
SI-31HTT ATl &% 9 Gl 8

i cafaT Ufa oy 1486 TR (~ 1.5 THfm= oiex) &t 9/a &1 Suasidl & 91y, YR Sid-atiT (3e9an) B 9o & 31ar g1 1000 B9
ez wfd cafda it o 9 &0 TR R O R U8 o9 @ Sifde S ot gult F o Sem|

e 1 WU B axiee T GrR i e 91 &l 81 Haiy 1-o1d afs (Hieilseeygal) & 3iies §dld g fob Y-Sl & sleTeje TghT
2022 H 3 H P BT 7080 SHISUT T U 4% AU 61 718 § W61 14% B 3Hfd-alied U4 &Wﬁ!ﬂmw%l

7g [l 2017 7 oifie gaR ot 919 17% SHIsdl &1 sifd-aled g3 o1l faft= gaRor SR TRemT gl 9 a1 g § WReg Hoe.
TRt givamon, faeeh, affrarg ok Flce o XTeal 3§ UNll gavTgdl @) I Sfftd a1 g5 ol

YR T, 87% 4-la R=Tg & 1y Feprer oiral & 3R a9y ®ed o 9 gy 1R i 1-o7ef [epyul, 1578 &1 ®iR g2 Bl
a4 931 PRUI § i1 G1RU Muile U A 7Y § 8 81dl § | g1 SR, SRl & Siiaseaul SR Aiadl 3R sreurTe §
SAUEIRG (S9TIY) O & [aqei- 3 Fael ord dare= H Sl o8 g

T AfoTE o awif 2017 SR 2022 T T Sorg it & GRT STHRIT Y-5d SISl &1 a G- JAH (3HUfd 7089)2, d 2017 3R 202
T fqSifed soeal o T & dig faeaqr S 82

.~213
~216
.~ 260
~ 354
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Objective Question

49 1908049 R ead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be :
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiscriminat
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploite
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab. Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Which of the following states have been found to have high number of over exploited units of ground water?

A. Rajasthan and Delhi

B. Punjab & Haryana

C. Uttar Pradesh

D. Tamil Nadu & Karnataka
E. Madhya Pradesh

Choose the correct answer from the options given below:

A.B.C &D only
A.B. & D only
B.C.D &E only
4. A B CDE

TR o u IR B e 3 IR e

YRA U 4-57d SR Gagl o (i, Sayrish, Sitel, sneyffrar SR Semsm) o Ao (fd B d@d gu, 377 40 a9 0 UH
STd-3UTd alell &% & Yebal g |

i et ufa ay 1486 T9H1eR (~ 1.5 i diex) & 9@ &1 SUa=dr & 91y, YR Sid-aiil (3e9an) 1 9ot & 3rar g1 1000 B9
Hiex vt aafdd wia v 9 &8 TR R OF TR T8 ofd $F S1de ol o 9ot 3 1 S|

oI 1 @Ud BT aRiT U TR 1 Y% 91 &l 81 Haig 1-o1d als (Hieilgseysl) & 3iids Fdld g fob Y-Sl o SeiTe]es TG+
2022 H 3N H P MBI 7080 SHISUT T U 4% AH UK 61 718 § Aaid 14% B Sfd-alied & U T aﬂﬁ%ﬂmwgl

7g fUfT 2017 7 a1fiie SR A 99 17% SHISHl @1 JHfd-aled g3 U1l faft= gaRor SR TRemr yars! 9 a1 g § WReg doe.
RTeredTH, givamon, faeeh, affamrg ok Salce o Xedl § UNH gaTgdl @ v Sifta a1 85 o

YR T, 87% 3-lc RdTs & o1y RepTet &Il § 3R U5y $ed ¢ o G an 1R SATiie 1-o7df [Fepyul, 1-57df &1 &R ge Bl
JH IST PRI § Hifep YR UIuiles =0 9 OG- 5 81 8idl ¢ | G8R1 3R, SaT=ii & SflashHul iR Afedl 3R Saeris] §
SAUEIRG (ST91RIY) O & [aHoi 4 Fag! ofd dare=! H Sl 318 g

1.
2.
3.

f=fad 3 @ SH-0H § et F YoI.5d Bt Jfd-led B1 7S ol s Sen a7 8

A, TR AR et
B. UoTq 3R gfearon
C. TR U

D. TG 3R $lcd

E. AWK
i feu U fasedl § 9§ Il 3TR &1 90 Sifog:

.HIAA, B, CHRD
.FTT A, B3R D
.¥a0 B, C.D3RE
.A,B,C,D.E

EEN SV A
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:A1
A2
A3
A4

Objective Question

50 1908050/ pead the passage and answer the questions that follows.

Given the precarious condition of its ground and surface water resources (rivers, stream, lakes, wetlands and reservoirs). India could be :
water-scarce country in the next 40 years. With 1.486 cubic meters (~1.5 million litres) of water available per person, per annum, India
falls in the water stressed category. A dip below 1000 cubic meters per person. per annum will push it into the water-scarce category.

The manner of water consumption also compounds the problem. Central Ground Water Board (CGWB) statistics show the indiseriminat
use of ground water turned 4% of the total 7,089 assessed units in the country critical in 2022 while 14% were assessed as over-exploite
The situation was worse in 2017 when 17% of the units were over-exploited. Various recharge and conservation efforts have borne fruit
but the number of such units remain high in states like Punjab, Rajasthan, Haryana, Delhi. Tamil Nadu and Karnataka.

In India,87% of groundwater is extracted for irrigation and experts say excess withdrawal round the year may be the biggest reason for
depletion, as the recharge primarily happens in the monsoon. On the other hand encroachment of water bodies and the discharge of
untreated waste water into rivers and streams have reduced the surface water resources.

Identify the factors responsible for depletion of water resources.

A. High consumption of water in agricultural sector

B. High consumption of water in Commerecial sector

C. Encroachment of water bodies

D. Excessive water use in domestic sector

E. Discharge of untreated waste water in rivers and streams.

Choose the correct answer from the options given below:

1.LA.C.D &E only
2.A. B.C&E only
3J.AB.C.D.E

4. A C&Eonly
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TRl 1 fed 3R (5 W=l & 3w Sifor:

YRA U Y570 3R Gagl o (i, Seayrish, i, smeyffrar iR semsr) o 1o [fd B d@d gu, 37 40 9% 0 U
I-37HTT AT &% & Tl

i oAt Wid ay 1486 THIER (~ 1.5 TR diex) 3 5@ &1 SUT=d & 1Y, YR Sid-aiil (3fedan) i 9ot & 3rar g1 1000 B9
Hiex vt fd ufd ad 9 o8 TR R SF W T8 o S SA1de St ot 9ot & 31 5w

ofd &1 @Ud 1 aRieT U G b SHfUd §a1 &l 81 iy 10 ais (Hieilseegs) & 3ies §dId § fob Y-Sl & SeTe]e TG«
2022 H S H P MBI 7080 SHISUI T U 4% HHCUX 61 718 & Siaid 14% B ffd-alied U Y WWW%I

7g [T 2017 7 o1fie SR M 99 17% SHISdl @1 aifd-ale g 41l faft= gaRuT SR SRemT qoarsl 9 @ g § R doe.
RTeredTE, gieaTon, faeeh, afiemrg ok Palce o Isal 3§ IRl gaTgdl o e Sifde a1 g5 ol

YRA T, 87% 1-0c R¥dTg & 7Y Hepre &l & 3R A9y ®ed ¢ i G an 1R Sni¥e 1-o7e [Fpyul, 1-57e 1 &R ge- Bl
&Y ST PRUI & T GAHRU1 TIYfHeh =0 J HR-E 5 81 81 &1 g1 3HR. el & SAIGehHuT 3R Afedl SR Siaerish §
SAUEIRG (SM913IY) O & [aHai 3 Fae! ofd da1eE H i 38 ¢

Sd T & B 8H & [T StRard SR &1 TR Sifr:

A PIY &7 § o d ot 31t @ud

B. aIftIioye® &4 § ofd & 3i¥d @ud

C. STl &1 Jfdhur

D. I &3 7 od BT it TanT

E. Afd! SR STeerIsl § SFu=Ra Uiy &d &1 [dgeiT

=i fad e faeni & 9 Fel SR o 9a- Sifo:

1.¥T@A, C.D 3iRE
. ¥ A, B, C dRE
.A.B.C.D3RE
LA C3HRE

e L

—_

Objective Question

S1 908051 1, totalitarianism, called authoritarianism. individual freedom is subordinated to

the power of the authority of a group or state. Which of the following is not a type
of totalitarianism?

1. Theocratic
2. Right Wing
3. Tribal

4, Conservative
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